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 BECE-146  

B.A. (ECONOMICS) (BAG)  

Term-End Examination 

December, 2022 

 

BECE-146 : INDIAN ECONOMY-II     

                  

Time : 3 hours Maximum Marks : 100 

Note :  Answer questions from each section as per 

instructions given in each section. 

 

SECTION A 

Answer any two questions in about 500 words  

each.  220=40 

1. Explain the major macroeconomic instruments 

of monetary policy. What is a Monetary Policy 

Framework Agreement (MPFA) ? 

2. Explain the two approaches of ‘‘import 

substitution industrialisation’’ and ‘‘export led 

growth’’ for economic growth. Why is a trade 

policy important for an economy ? 
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3. State the importance of agriculture sector in 

stimulating the overall growth rate of the 

economy. What has been the trend in the 

contribution of agriculture sector to the overall 

GDP of India ? 

 

4. Explain the theoretical rationale for the 

promotion of Small Scale Industries (SSI). Do 

you agree that the promotion of small scale 

sector acts as an anti-inflationary force ? How ? 
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SECTION B 

Attempt any three questions in about 250 words  

each.  310=30 

5. Explain the circumstances under which MSP 

fails as a policy instrument to ensure farmers’ 

welfare. 

6. Discuss the various laws for labour welfare 

under which the organised sector employees in 

India are covered.   

7. State the disadvantages of high ‘input intensive’ 

inorganic farm practices. What are the 

advantages of ‘organic farming’ ? 

8. Outline the three sets of reforms which broadly 

signify the New Industrial Policy, 1991. 

9. What are the major areas in which policy 

initiatives are needed to be focused upon for the 

development of services sector in India ? 
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SECTION C 

Attempt all the questions from this section.  

10. Distinguish between any three of the  

following :  35=15 

(a) Foreign Direct Investment (FDI) and 

Foreign Institutional Investment (FII) 

(b) Formal market and Informal market 

(c) Capital Output Ratio and Incremental 

Capital Output Ratio (ICOR)  

(d) Micro enterprises and Small enterprises  

(e) Gross Fiscal Deficit and Gross Primary 

Fiscal Deficit   

11. Write short notes on any three of the  

following :  35=15 

(a) IS – LM Analysis  

(b) Disinvestment  

(c) Regionalism and Multilateralism  

(d) Green Revolution  

(e) ‘Make in India’  
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 ~r.B©.gr.B©.-146  

 

~r.E. (AW©emñÌ) (~r.E.Or.) 

gÌm§V narjm 

{Xgå~a,  2022  

~r.B©.gr.B©.-146 : ^maVr` AW©ì`dñWm-II  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  àË`oH$ ^mJ _| àíZm| Ho$ CÎma {ZX}emZwgma Xr{OE &  

^mJ H$$ 

{H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| (àË`oH$) _|  

Xr{OE &   220=40 

1. _m¡{ÐH$ Zr{V Ho$ _w»` g_{îQ>JV AW©emñÌ CnH$aUm| H$s 

ì`m»`m H$s{OE & _m¡{ÐH$ Zr{V T>m±Mm g_Pm¡Vm (MPFA) 

Š`m h¡ ? 

 

2. Am{W©H$ g§d¥{Õ Ho$ {bE ‘‘Am`mV à{VñWmnZ Am¡ÚmoJrH$aU’’ 

Am¡a ‘‘{Z`m©V AmYm[aV g§d¥{Õ’’ Ho$ Xmo Ñ{îQ>H$moUm| H$s 

ì`m»`m H$s{OE & EH$ AW©ì`dñWm Ho$ {bE ì`mnma Zr{V 

Š`m| Amdí`H$ h¡ ?  
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3. AW©ì`dñWm H$s g_J« {dH$mg Xa H$mo àmoËgm{hV H$aZo Ho$ 

{bE H¥${f joÌ Ho$ _hÎd H$m CëboI H$s{OE & ^maV Ho$ 

g_J« GDP _| H¥${f joÌ Ho$ `moJXmZ H$s Š`m àd¥{Îm ahr  

h¡ ? 

  

4. bKw ñVa CÚmoJm| Ho$ àmoËgmhZ Ho$ g¡Õm§{VH$ _hÎd H$s 

ì`m»`m H$s{OE & Š`m Amn Bggo gh_V h¢ {H$ bKw CÚmoJ 

joÌ H$mo ~‹T>mdm XoZm _wÐmñ\$s{V-{damoYr ~b Ho$ ê$n _| H$m`© 

H$aVm h¡ ? H¡$go ?  
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^mJ I 

{H$Ýht VrZ àíZm| Ho$ CÎma bJ^J 250 eãXm| (àË`oH$) _|  
Xr{OE &   310=30   310=30 

5. CZ n[apñW{V`m| H$mo g_PmBE {OZ_| Ý`yZV_ g_W©Z H$s_V 
(MSP) àUmbr {H$gmZ H$ë`mU gw{ZpíMV H$aZo Ho$ {bE 
EH$ Zr{V CnH$aU Ho$ ê$n _| {d\$b hmo OmVr h¡ ? 

6. l{_H$ H$ë`mU Ho$ CZ {d{^Þ H$mZyZm| H$s MMm© H$s{OE 
{OZHo$ A§VJ©V ^maV _| g§J{R>V joÌ Ho$ H$_©Mmar em{_b  
h¢ ?  

7. AO¡{dH$ H¥${f H$s Cƒ ‘AmJV àYmZ’ nÕ{V`m| Ho$ ZwH$gmZm| 

H$m CëboI H$s{OE & ‘O¡{dH$ H¥${f’ Ho$ bm^ Š`m h¢ ? 

8. gwYmam| Ho$ VrZ g_yhm| H$m CëboI H$s{OE Omo _moQ>o Vm¡a na 
ZB© Am¡Úmo{JH$ Zr{V, 1991 H$mo Xem©Vo h¢ &  

9. do H$m¡Z-go à_wI joÌ h¢ {OZ_| ^maV _| godm joÌ Ho$ {dH$mg 
Ho$ {bE Zr{VJV nhbm| na Ü`mZ H|${ÐV H$aZo H$s Amdí`H$Vm 
h¡ ? 
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^mJ J 

Bg ^mJ _| go g^r àíZm| Ho$ CÎma Xr{OE &  

10. {ZåZ{b{IV ‘| go {H$Ýht VrZ  _| A§Va ñnîQ> H$s{OE : 35=15 

(H$) {dXoer àË`j {Zdoe (FDI) Am¡a {dXoer g§ñWmJV 
{Zdoe (FII)  

(I) Am¡nMm[aH$ ~mµOma Am¡a AZm¡nMm[aH$ ~mµOma  

(J) ny±Or CËnmX AZwnmV Am¡a d¥{Õerb ny±Or CËnmX AZwnmV 
(ICOR)  

(K) gyú_ CÚ_ Am¡a bKw CÚ_  

(L>) gH$b amOH$mofr` KmQ>m Am¡a gH$b àmW{_H$ 
amOH$mofr` KmQ>m  

11. {ZåZ{b{IV ‘| go {H$Ýht VrZ na bKw {Q>ßn{U`m±  

{b{IE : 35=15 

(H$) IS – LM {díbofU  

(I) {d{Zdoe  

(J) joÌdmX Am¡a ~hþnjdmX 

(K) h[aV H«$m§{V  

(L>) ‘^maV _| ~ZmAmo’ H$m`©H«$_  


